
Calcola in colonna le seguenti addizioni 

77 + 16 =                          

54 + 28 =                  

45 + 32 =  

23 + 4 + 35 =                  

3 + 22 + 45 =        

21 + 33 + 5 = 

Calcola in colonna le seguenti sottrazioni 

32 – 15 =                          

24 – 17 =                     

96 – 35 = 

63 – 41 =                         

 68 – 37 =                       

 80 – 7 = 

 

Calcola in colonna le seguenti moltiplicazioni 

14 x 2 =                          

12 x 5 =                      

14 x 3 = 

31 x 3 =                          

37 x 2 =                      

12 x 6 = 

 

 


